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Answers to questions carrying 1 mark may be from one word to one
sentence.

Answers to questions carrying 3 marks may be from 50 — 75 words.
Answers to questions carrying 4 — 5 marks may be about 150 words.
Answers to questions carrying 6 marks may be about 200 words.

Attempt all parts of a question together.

1S9 & T a o 9§ wHAer’ w1 7 G |

Give the meaning of ‘supervision’ as an element of directing.
‘Suaies’ qen SHIUETe Sed § GUNY JaTg % SMYR W I T
T |

Differentiate between ‘formal’ and ‘informal’ organisation on the basis of
‘flow of communication’.

T TishAT H hivel qhEn I o St § 2
Why is ‘Aptitude Test’ conducted in the process of selection ?
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4. WIS 3OS Ueh UG SUE o Ao A1 o [GUUM | T Toh hal
g | A % IR §e¥ w1 — %a, foskd, fom qun Fgkeeo aren
HTATcHS ST & | 3cUIe shl AT d¢4 W Al 9 37feh hu=TEl shl di bl
fofa foram |

3G JTTYRON bl g hifNT ST WG TEIE JaEh bl IqAAsd hHTTT <hl
T qAT TR ohl Ul o4 H HEEe BF difsh o8 Tcdsh (a9m o foIg
AT HHAT <hl &A1 6 IR § [0 & Foh a1 I9hl vdl L 9 | 1

Bhagwati Enterprises is a company engaged in the marketing of
air-conditioners of a famous brand. The company has a functional
structure with four main functions — Purchase, Sales, Finance and
Staffing. As the demand for the product grew, the company decided to
recruit more employees.

Identify the concept which will help the Human Resource Manager to
find out the number and type of personnel available so that he could
decide and recruit the required number of persons for each department.

5. 33 Wi 1960 § TUreR arett foes aefiai o we ufig AW on | fUew dF
A H 3cdTed ged o SR 39 Wefiew o T, sft giw, S o | 3=
3T YSEeh bl b 1T bl Udl AT bl Hew fean | Icured yeues 3 fafie
TRIdeTeRt Al 3ok 1L HE HH AT HHATNET Bl (9T Yfdeed TR 1
amey fea |

3IcqTeT JaYh g T U 39 =0 ki g hIfGT S Y€Y % Uk HE I
grafed 7 | 1

Isha Machines was a renowned name for quality sewing machines since
1960. Mr. Suresh, the owner of Isha Machines, was worried as the
production had declined during the last three months. He directed the
Production Manager to find out the reason. The Production Manager
ordered the different supervisors to prepare a performance report of the
workers working under them.

Identify the step taken by the Production Manager that is related to one
of the functions of management.

6. IS HEAT 1 R Y 7 ? 1

What is meant by ‘Capital Structure’ ?
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frenfirer AfAT 1 3cUTed i aTcll Ueh Ifg e, Hiehr fdfids, = 31w
AE I TR i 7 18 HUS FIC ATANTE Yoit ol STETTRdl @ | FHEH]
% & HRGM s, o Ifha St auar & e ¥ fag weha s
IEd @ | Tod yegsh, ot 9% g, 7 ggme e o fewmehi @ o @ fase
weEe] < HiE § foRa S Hiifeh a8 % TG TS |

34 fafa 1 9m Sary e Temm ¥ ot 4 fafs IS whha s
fotar o |

Sika Ltd., a reputed industrial machines manufacturer, needs Rupees
twenty crores as additional capital to expand the business. Mr. Amit
Joshi, the Chief Executive Officer (CEO) of the company wants to raise
funds through equity. The Finance Manager, Mr. Narinder Singh,
suggested that the shares may be sold to investing public through
intermediaries, as the same will be less expensive.

Name the method through which the company decided to raise additional
capital.

T 3t wetstt, Ffem, it 3Heh SH-fed & fou s o Wl & fow A
R o TS | 98 9gd BNd g3 S 97 % WA % @19 I gH H TH Ufed
Siag e |

I G ST <hl T8 Torshd Terde shl deheiieh shl Ug=I shIfoy |

Mansi took her niece, Ridhima, for shopping to ‘Mega Stores’ to buy her a
bag for her birthday. She was delighted when on payment of the bag she
got a pencil box along with the bag free of cost.

Identify the technique of sales promotion used by the company.

gy o A gl % ®9 § ‘Fewa hl Uhar qur ‘Aew skl GE¥Y H
AT |

Explain briefly ‘Unity of Direction’ and ‘Order’ as principles of general
management.

e i forgl 9 faiwarstt =1 Seaiw s |

State any three features of planning.
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11. Gy sl foregl o Gohfceh STl hl 989 d GHEATST | 3

Explain briefly any three semantic barriers to communication.

12. Ty foifies o<t A O A W uered & ST & | Eal oiel A |
3TRNeh Jehel § Tl o1 foshdl il B | 99 H U1 1 o9 STgHMI 6
HET AT | FAAH GhIATT Teheitehl ol &I H T@d §Y, BT 01 A
I gurA 1 o foren | gues fore, st & fam yeess, off fasea gea, 3
foma &1 Tl qen 99T 1 STIAW TR | I8 HEAT i Haw qen fam fofi w6t
AT & YR W ST # "ges 3 |

ard:, #ft foshra goad 4 W I @R It & o fosky galfqam e 3E
R | 3E ST aTel aul H oY Al ¥ grEfua Al off T fohu |
3G%h g1 98 ATdNeh dral & foxd sl Iucteuar gHfead sen amgar o | 39
ot & foQ a8 Aepfcuss Gl ol 9aT e & foTu Faresfiet 2 |

30 AJe0g § drud (Ol SEYRUN $l 9§ HIVT | 39 T8 T8 TS
foeia S/aemon & g & fohgl ol forgatl o1 Seor@ ot I | 3

Ramnath Ltd. is dealing in import of organic food items in bulk. The
company sells the items in smaller quantities in attractive packages.
Performance of the company has been up to the expectations in the past.
Keeping up with the latest packaging technology, the company decided to
upgrade its machinery. For this, the Finance Manager of the company,
Mr. Vikrant Dhull, estimated the amount of funds required and the
timings. This will help the company in linking the investment and the
financing decisions on a continuous basis.

Therefore, Mr. Vikrant Dhull began with the preparation of a sales
forecast for the next four years. He also collected the relevant data about
the profit estimates in the coming years. By doing this, he wanted to be
sure about the availability of funds from the internal sources. For the
remaining funds he is trying to find out alternative sources.

Identify the financial concept discussed in the above paragraph. Also,
state any two points of importance of the financial concept, so identified.
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A, Tgg a1 AlfYal Hetioane™ o el & i3 o qon save # o fim-he
TR % SHGEE W T §U § | 9 TG fHed § q91 1o SAEETRes o=l W
foam-foust d &, qen 3udrR wgfee, fauwom s, saag feemsfm, fasa

dehr1ehl, ATATISTER BT, ScAT(e 9 fewfUrt & 3TeM-UeH &id & |

el & sk wT H, 3E=d | [gg AAT AT T A IUNEIRT H 0T hl AR
ThiNa fopam | 3T ot T Aferepar Tashar Iushredl o1 fofi adent & siwor
Fd 7 ad fquom & amrfies, Afds 9 wiawfs vggst w e 7@ ¢, Sefe
I8 U T8 B AT | TG A hal fob Suuihieti Hl Fgfe F e qema o 9
UG UMY AT <1 Sha 81 Shid 31aT FATtd 33 T8l hid 8, Ife 33 8 g
Tqfea gmemn qon S| T foha S |

TIMNAT 4 TR ot el b IUMRRIST 61 Tawaehared sl dqise fou fomm =18
HIOA U AT Bl YT TE L Tehdl | STAIHTRAT 1 IJg Haed g foh o
ITHAISTT 61 TS ol H | T, Fifch SATE™ AN gRT Yed Grdi § Feral
2 | 35 g off g1 oh a8 T IUMIRIST Y SATEavIhdrst i €= Wl B |
37 fafir yor i fommamett i wgam Hifve 598 39+ 9w & fauoe
el H gEAd, Tgg d¢T dAifvdr MR g | weE 18 e foemaw i wh
HAfafen foivar, St Swi =g 4 721 & 78 ], 1 i Seoi@ T |

Hemant, Guddu and Toshita were friends from college days and
presently they were doing different kinds of business. They regularly
meet and discuss their business ideas, and exchange notes on customer
satisfaction, marketing efforts, product designing, selling techniques,

social concerns, etc.

In one of such meetings, Hemant drew the attention of Guddu and
Toshita towards the exploitation of consumers. He told that most of the
sellers were exploiting the consumers in various ways and were not
paying attention towards the social, ethical and ecological aspects of
marketing, whereas he was not doing so. Guddu told that they were

under pressure to satisfy the consumers but stated that the consumers
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would not buy or not buy enough unless they were adequately convinced

and motivated for the same.

Toshita stressed that a company cannot achieve its objectives without
satisfying the needs of the customers. It was the duty of the businessmen
to keep consumer satisfaction in mind, because business is run by the
resources made available by the society. She further stated that she

herself was taking into consideration the needs of the customers.

Identify the various types of thinking that guided Hemant, Guddu and
Toshita in the marketing efforts of their business. Also, state one more
feature each of the various types of thinking identified that is not given

in the above paragraph.

14. UHE oH amel @ wr, T dl. fafiees & =vaw gEst 4 5« & §
TGHR g0 ToRaT B | 38 UaT =anl b 3Heh faWm H W HHERI § do1 Wed %
A 9§ R K H g W I8eh fq9T % Wy w@gam A8 W @ 9 |
Hd:, 364 gHfzaa fora fop 3mep fawm 4 strewass g@a § HHA 8 d91 gt
foramtt & =19 39 ggEI § Qe g |
(%) I8 TR H ggaH Hife o WYY gEst SR o |

(@) 39 &R R FVAN gEsi gir fve SM o @9 =1 &t &1 oft oo
HIfTT | 4

Rishitosh Mukerjee has recently joined AMV Ltd, a company
manufacturing refrigerators. He found that his department was
under-staffed and other departments were not cooperating with his
department for smooth functioning of the organisation. Therefore, he
ensured that his department has the required number of employees and
its cooperation with other departments is improved.

(a)  Identify the level at which Rishitosh Mukerjee was working.

(b)  Also, state three more functions required to be performed by
Rishitosh Mukerjee at this level.
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G TS TR | AT IHWAT hiH U i o q9=Tq Hehd 96 ARG Ale]
qAT GFaS o Toh MGG AT H BRI Il A8 hl Th Hi%! bl g Y& ol |
! hl gM h fafrear wih i fafiree grg qon == & fou sga @
GGl (FraH) I THR off | $T HRUEY FEI™ T ql AWIG oA HAX 7 &
ATBT | Hohd FHHT HRUI IdT T o AT IGH AT | 3T HGH HT A%
®9 H T8 9@ 9H h SRV H GqT A h [T TH g Y6 9EH 9
wH.Sf1.U. A g3, T ol Th Teush o &9 ° fyen o |

@ 3 ureeni @ ufagfee < qen 9a1 @ fof 9 widT i AeaE ey Bl @R
Hd ¥ T MY I G A hl Taten § g 94 It 999 | 99 61 9 |
3G Torgetwor feopern don v @ fo6 o sMaws g off fos g fomm S
Hehdl 9T | 394 37T & kI o foIu Aes ga3 o1 [l o= faar | 39 97
ot war =en o UE o gugy off Tkt wim fae & off | om:, @A U
GGt o foshd &l Tk o1 ot fyofa fomn | aftomeasy, s ava & & fen
TTEh! ! RN HH § T & 78 |

e % qAYH Bq R g Suerg g dSies ey ol fohedl g1 dehAienl
Yga ShifeTe 9T Hesy |

Sanket, after completing his entrepreneurship course from U.S.A.
returned to India and started a coffee shop ‘Fioma Coffee’ in a famous
mall in Mumbai. The speciality of the coffee shop was the special aroma
of coffee and a wide variety of flavours to choose from. Somehow, the
business was neither profitable nor popular. Sanket was keen to find out
the reason. He appointed Riya, an MBA from a reputed management
institute as a manager to find out the causes of the business not doing
well.

Riya, took a feedback from the clients and found out that though they
loved the special unique aroma of coffee but were not happy with the long
waiting time being taken to process the order. She analysed and found
out that there were many unnecessary obstructions which could be
eliminated. She fixed a standard time for processing the order. She also
realised that there were many flavours whose demand was not enough.
So, she also decided to discontinue the sale of such flavours. As a result,
within a short period Riya was able to attract the customers.

Identify and explain any two techniques of scientific management used
by Riya to solve the problem.
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Ao o YT o ®9 § Tl gen T w1 319 dfv |

Give the meaning of ‘Strategy’ and ‘Rule’ as types of plans.

9l < STel Bl o &9 H TAie g q9A1 TG SheRl i H&Y H HHATIY |

Explain briefly ‘Casual Callers’ and ‘Labour Contractors’ as external
sources of recruitment.

IATSTehal TohEl 21 o fash™ ol 3Heh! Tumett, e g fomd o1 onifee & &=
Y 3T & T TAFGHT & 3Hehl Halfeeh aehdl 8, & i 3T Jrar 3 |
AAITEA I T i b I Tl IS TR 6 T o T 39 T @&
2 | 35 IAfdih, b 3= oo ? forad wfafes swfaa qen steurafy o gus=i
ST THTEYY] llch & SATIR BIAT & | Toh 919 I ISR S=rd i Tl qem fHarsreni
% YT 3UcTeYy fad ol 3Heh AT IcqTeeh Hasr 9|l i i Fefa & o
HETH Bd 7 |

(%) 3w feafa & s gra fsarfea fope S ot v/t 61 9 @i |

(@) Y 9oR @ve & Ak 30 SR @Ue 1 T Jaisy, fomw srfaa den
JTeUTaly SR AT 1 SATIR BIAT 8 | QHI o HET IT= o g qF forg
Wt G |

These days, the development of a country is also judged by its system of
transferring finance from the sector where it is in surplus to the sector
where it is needed the most. To give strength to the economy, SEBI is
undertaking measures to develop the capital market. In addition to this,
there is another market in which unsecured and short-term debt
instruments are actively traded every day. These markets together help
the savers and investors in directing the available funds into their most
productive investment opportunity.

(a) Name the function being performed by the market in the above
case.

(b) Name the market segment other than the capital market segment
in which unsecured and short-term debt instruments are traded.
Also, give any three points of difference between the two.

9 P.T.O.
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U, Sl fAfieg o1 yag Fewes 2 | Sl 3 T T=a1 9M 31fSa fean 8
TAT 3G FATET =BT B | I8 SACH ! T9F W QW A oh (¢ AT STt
off | IcureH yaegeh, goft Freht, STeem & ufshaur it Tel@ FHIerdgEs &l
off qeor 3ok e g0 YNg PO PR & | Tl FH IR TT A 9d | 9 |
guiaw, SR 1 UaElee &1 T | S@es SHan o o fEehr i erafesta
T IO gHT HHT T I TE) R et | 38 I8 ot 3 o T aw w6
UTeT T8 A T AT FEGSS & Hehd o Fred srgam iy g1t qen wfa i
B o1 TIRGH o7 | 3Aq:, 3T A9 HHATET o T Teh 43 <hl fored 3mem
& gl o fasfid Ifshaur =1 fFRieH foran mam | gyt dW A aE s
N & U wgAq on, Hifh ST o HEGNE o Uid TTUN H FIER
FerrrcHs o1 | aft 7 rfafs awa fean qen wame fpu 9 @et Y wma 9w aifta
B S | I8 A8 oraew, TRee @ faem e qun 38 ravaes fasm i g
& |

(%) TFYW hI Agca A hl TgaM HINT T 39 A Hl U A<l Th

IEERCEIEl
(@) ﬁ%wmm%m%ﬁwﬁﬁ%ﬂw
|

Avdhesh is the Managing Director of Delta Ltd. The company had
established a good name for itself and had been doing well. It was known
for timely completion of orders. The Production Manager, Ms. Priyanka
was efficiently handling the processing of orders and had a team of ten
motivated employees working under her. Everything was going on well.
Unfortunately, Priyanka met with an accident. Avdhesh knew that in the
absence of Priyanka, the company may not be able to meet the deadlines.
He also knew that not meeting the deadlines may lead to customer
dissatisfaction with the risk of loss of business and goodwill. So, he had a
meeting with his employees in which accurate and speedy processing of
orders was planned. Everybody agreed to work as a team because the
behaviour of Avdhesh was positive towards the employees of the
organisation. Everyone put in extra time and efforts and the targets were
met on time. Not only this, Avdhesh visited Priyanka and advised her to
take adequate rest.

(a)  Identify the leadership style of Avdhesh and draw a diagram
depicting the style.

(b)  Also, identify any two values highlighted by the behaviour of
Avdhesh.
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20. TCUEA CahE WE CHIASIS (IHES, TYh U STHUHI H Tehrileh] JTHT
Yo i Tk Ol A, fava i Siied W fau Icare) o smigE 6 e
HA 7 | 3Hh UTH Th et MY A fasmm I g e g gse-1 e T
gl #1 ATfashr fom 8, S a0y oo & Afafcs $® waes areeet duien
I BT T, T 9™, scATe b1 Y gidiaor widl 3 | ey § SR i @
T TR 4 9 TR sie o & Aifa w1 S % T 9Ra #§ g9r
Tishal 9 @ ot | ARE I ATERAT % IHSH I ATH I8H hT BT |
ol foren | speoll @z off STl oft fop forear 6 forftra git o wep-gat 1 wwifera
T AT TER AT 1 T 9¢ T AT 9UT WA I b ARSI SR h
YR R ST Hehdl o1 | WA STHAR 1 ITRIEY A oh 1T FHEGH A ToR1A
T Ueh HIATAT <hl TATIT 1 | S & THA H, HU-l SR <hl Teh UM HFIT
T T | BT H T 8 gE 98d 8 Raarel IR H Yo o e strenivd
BU | IfRITTET < R0 qedl § 1 5 qA1 SHH UTEh! 1 ATH BT |

(%) 3I9YH =0 H, TR A0 § TFal-2d 3 J&F ATIROTA I <=1 hl
TE B | 3 LR i ggE hIRT qr aussy |

(@) 3 AAUROMSAT o YA TGE™ qT UM T IS4 Tl fohegi o qra
w1 ol F&9 § Fwesy | 5

Nandrachal Networks and Technologies Ltd. is a leader in technology
innovation in U.S.A. creating products and solutions for a connected
world. It has a large Research and Development team which invented the
first smart watch W-I, which besides showing the time would also
monitor few health parameters like heart beat, blood pressure, etc. While
in search of markets abroad, the company found that in India, the reform
process was underway with the aim of accelerating the pace of economic
growth. The company decided to take advantage of the fact that licensing
requirements had been abolished. The company was also aware that
there had been increased level of interaction and interdependence among
the various nations of the world and India could be made a base for its
international trade. It set up its office in Gujarat with a view to capture
the Indian market. In a short span of time, the company emerged as a
market leader. Success of the company attracted many other players to
enter the market. Competition resulted in reduction in prices, thereby
benefitting the customers.

(a) In the above paragraph, two major concepts related to government
policy have been discussed. Identify and explain those concepts.

(b)  Also, explain briefly any three impacts of those concepts on Indian
business and industry.

66/1 11 P.T.O.
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R & HE W e SieH dTel fohedl wie fargati o et hifvm |

State any five points that highlight the importance of controlling.

3T TEEA! H AR T i hi MG ST o (o103, IY Fa9 4 Th
g M T Y4 HSHl hl AT 1 ARNSH FRAT | I & qaT T 6 Ig
IMYW ok TEAMTA HI T HI LA WRAHRS 6l off | zEfer,
IR, qY FAS o TG&AI  INER I TR 1 (o fom=n | 9%r5 e &
"ed 35 A Wi gy BT foh g SN1HH I Ak hHie (0 H o s
off | T Jg 3T o HS TgATH! 3Hh [o¢ 3TToger o Fifch IehT favamd o
o et Shie frmvr 39k fou wareey Treeefy RNt Ue7 o "t & | 3T,
A3, qY T« A Afqeh, guiea qen TeRfgd ek i FEE ggm e
ol for | 3R g 3TEM o FEaTHaAl ol YEdTad A1k hie HRE0 3
& Th UFhoId fc@mn S 3TEM, A ©9 il ¥l oFd T80 deh 3T TEH
AT AT hie FRE0 o7 | FgarEl 9g¥ qUR § T QT A1 hie e
T o | uegg feAi & uvETq AT hie e T TR wW B T | AL
Y FAG J AT hie TRE0 HFEH § qrary TG fRa g 9 319 SIHA
! A T8 | Th A1 TAE i o G9aTd T3, Y FAs o ITHIAN =TI
o frprrd gt U & |

SUNIRT AT TR 1 JHTioTehdl & R H §gse o1 G 84 AR hie
R ot I SATeREs How S R o |

(%) =T g IR T S Teh aret fohedl ©: Fdett &1 Seor@ Fife |
(@) IR ¥ FAS R TS ol ST Fohedl qf Hedl shl 989 i |

‘RO Youth Club’ organised a visit of its members to an Old Age Home to
inculcate the habit of social work among them. The visit revealed that the
living conditions of the inmates of the Old Age Home were not hygienic.
So, the RO Youth Club members decided to clean the premises. During
their cleanliness drive, they realised that the Old Age Home also required
pest control. But some of the inmates of the Old Age Home were reluctant
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for it because they believed that the pest control may create health
problems for them. RO Youth Club, therefore, decided to provide ethical,
safe and odourless pest control. They showed to the inmates of the Old
Age Home a pamphlet of the proposed pest control product which
promised easy, inexpensive and long-lasting pest control. The inmates
happily agreed and the pest control was carried out. The effect of the pest
control started wearing off after a fortnight. RO Youth Club contacted the
pest control company which kept on postponing their visit. After waiting
for a month, RO Youth Club filed a case in the consumer court.

The consumer court was satisfied about the genuineness of the complaint
and issued necessary directions to the pest control company.

(a)  State any six directions that might have been issued by the court.

(b)  Identify any two values that are being communicated by RO Youth
Club to the society.

TR TSIl ! AIST L& THIYH YSH i 2q ™ TS 4 ‘hed T8
Y hI Teh HEOHT IE I | FHHT I ATSH STHATIT Sl ThATH HTAT, T
adT o, Sfdfsean fe@mn qen gewaqul eifwsl w1 g W R} | 98 U
Uil FTFeaRR SRR doT |TgeR gRem W1 fovms om | 3uehl i
fei-feT sgd) 718 s 98 7 Faw Uk HASST I ARk o1 Mg 9 AU
T U1 SR a9 ST | T o | HeE idied Sedr = T |

9% 98d BNd g3 I« 4 U9 @ qeRlhl HAOR W T S qNASHT
TEATE T AT | GREASHT TR HR A GHI I8 I TR Rl 1 GRATT 36
o vt e f TEE TWE HE B EHT S @1 AT | IAq:, IHS H H
foear @ =1 [l o | e 3 T % T oSl weifoene % wy
fehe T T ST TET o1 | Ush IR W89 H 9IRS |§ i & fou nd
aen yisht 1 frgfe 6 g |

3G9 9T foh U AT waw, Il a9 favarmEa & | 3y e 9 ded W
g foram qon @ wd wisht Y wgrEar @ ufEe o wogd @ o | ad
TEl, 3T T I JEeH &F Hl ggH H Hl §%d g | 3k @19 § I
dor iRt <hl ekt qem uget i o sraEt ot U gy |

(%) 39 JM@YRON H TgIH HINT TAT HHT H FHIASY {98 S+ M i

swfth fRurfd o sewall e Shfga o o wererar ared g |
(@) WM (%) H YgAH T FGURUN o HE b [heal aR oGl hl off
TuFATsy | 6
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Anoop Gaur started ‘Cat’s Eye’, a company for providing cyber security
solutions to businesses. Its objective is to prevent, detect, respond to
cyber attacks and protect critical data. He was a hardworking software
engineer and an expert in cyber security. His reputation grew by leaps
and bounds as he was not only a person of integrity but also did his work
with utmost honesty and sincerity. The business started growing day by
day.

He was delighted when he was offered a big project by the Ministry of
Science and Technology. While working on the project he found that the
volume of work made it impractical for him to handle all the work by
himself. Therefore, he decided to expand the team. The company
maintained a close liaison with an engineering college in the State.
During a campus placement, Aarav and Pranshi were appointed to work
for the new project.

He found the new employees capable, enthusiastic and trustworthy.
Anoop Gaur was thus, able to focus on the objectives and with the help of
Aarav and Pranshi, the project was completed on time. Not only this,
Anoop Gaur was also able to extend his area of operations. On the other
hand, Aarav and Pranshi also got opportunities to develop and exercise
initiative.

(a)  Identify and explain briefly the concept used by Anoop Gaur in the

above case which helped him in focussing on the objectives.

(b)  Also, explain any four points of importance of the concept
identified in part (a).
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Explain briefly any four factors that affect the working capital
requirements of a company.

Hel eged fafiee faferean Sushton w1 faawor s arefl Tk ot 2 | o]
q g g H IR TR HI S A drelt T I 15000 IHISAT T AT Teha
S W 1 T TT oM IR TR I S R Ghdl g | ToqoE Wi
frgtor @ & fau wrf & ge sEeh Afvwlt 3 faftm e % fagoe

U@l 6l Uk S3h TS |

14



3 93 H, 1 T4 % fauvm yg@, w9@, 3 gena fean foh st aefid uftea
off 38 TEIATA o 3T HHANT ohl, ST AT T ITAT i, AT & T@TE
& fav 4 gueme & foiw safhra &9 9 SRt | ST =ieY | 35 I8 oft
gema foar 76 soeh fou sifafcrs wfwifea =t it wdff i Se | o o=
S vH@, fdw, 4 SamE 6 wRiEl % ST W 9gd U @9 hl T8 off, I
Hrot o g Affs FHETRET 1 YT o fore gm s it oft, SEn foh we
3 gara T o |

gleft S o TagE FFa Y@, @M, 4 gee e R wife ey
IR TSI &l o, T 9 i | qd foawr o Hieami & =34 ol Fgiid &
Tl Shehl bl JTEIIT i shl ATaLIhdT off |

(%) <3 d T fopu Tu foraeor meawt & == 1 GUTfad i o1t S
& gg=H HIfSu |

(@) 9T (%) ¥ yggW fhu TU Y% R 4 TrEied ©&FH o I
faw=i =t ot S&9 § 9EmET | 6

Medi Instruments Ltd. is a company dealing in the distribution of
medical instruments. The company recently imported 15000 units of
sugar testing machines to test the sugar levels without taking blood
samples. For deciding the marketing strategy, the Chief Executive Officer
of the company called a meeting of the marketing heads of different
zones.

In the meeting, Sanjay, the North Zone Marketing Head, suggested that
since the machines were sophisticated they need to visit hospitals
personally to explain its working to the hospital staff who would be using
the machines. He also suggested that additional trained people may be
recruited for the same. Hitesh, another Zonal Head, added that since lot of
money had been spent on the import of the machines, the company was
short of funds to pay the additional staff, as suggested by Sanjay.
Revansh, a newly appointed Zonal Head of South Zone, suggested that
since the size of the order was not large, a detailed study of the factors

determining the choice of channels of distribution was required before
making the right choice.

(a) Identify the factors influencing the choice of channels of
distribution which were discussed in the meeting.

(b)  Also, explain briefly the other considerations to be taken care of in
each factor identified in part (a).
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